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With reference to the Ayushman Bharat
Pradnan Mantri Jan Arogya Yola.na
(AB PM-JAY), consider the following

statements :
1. It offers a sum insured of Rs.5 lakh

per family for secondary care.
2. It does not provide insurance for

tertiary care.
3. |t identifies the beneficiaries via the
latest Socio- Economic Caste Census

(SECC) data.

Which of the statements given above
is/are correct ?

(A) 1and 2 only
(B) 1and 3 only
(C) 2 and 3 only
(D) 1,2and 3

(E) Not attempted

In 1999, the was completed to
replace the aged Tajewala Barrage across
Yamuna river.

(A) Hathni Kund Barrage
(B) Indira Gandhi Canal
(C) Bhakranangal

(D) Hakra Canal

(E) Not attempted

Right/Left Hand Curve signs are used
where the direction of alignment

(A) does not change
(B) is straight

(C)

(D) none of the aboye
(E)

changes

Not at‘[empted

T SUTE S ST Aoy

1. STEEAT e |
(AB PM-JAY) % de¥ # Frferfen T

 fRm H
1. 7 feda @t 89 Sfd TRER
%. 5 g 1 ST dl & |
2. 37 G ST % fore ST SuewRy
T8 T | .
3. g Tl G- 3R ST
S Ffeel (T8 3. HLH) g
AR <6l TEE el |
Iofe el A HH-F1/H TA 8 7
(A) et 1 3R 2
AB) shad 1 3R 3
(C) shad 2 3R 3
(D) 1,23 3
(E) STSRTrd
2. 1999 & FHAT 9 W WA ASETET AU F)
e % forg ﬁmwm‘[
vmgﬁlﬁfﬁ%ﬁ | )

(B) Heft &

(C) uierida greft 2

(D) ST F & ¢
(E) st
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4. Who among the following was the Chief

Minigtgf of Haryana to declare complete
prohibition on alcohol ?

(A) Devilal

(B) Om Prakash Chautala
(C) Bansilal

(D) Bhupinder Singh Hooda
(E) Not attempted

5. The National Early Childhood Care and
Education Policy was formulated in the
year which became the first policy
exclusively for children in the early years.

(A) 2011 (B) 2013
(C) 2012 (D) 2014
(E) Not attempted

6. The Asiatic Lion was widely spread over
India earlier but now its natural habitat is
restricted only to the of Gujarat.

(A) Girarea

(B) Gulf of Khambhat
(C) Rann of Kutch
(D) None of the above

(E) Not attempted

7. British removed Haryana from North
Western province and merged it with

Punjab in

(A) 1857 & .;
e

(B) 1867 i-_f-,-J:a[jgi

(C) 1858

(D) 1888

(E) Not attempted
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4. ﬁrmi%iﬁgaﬁg%a'g&wn%g@ﬁa‘i%
wof e =) aifya ¢
(A) e
(B) N9 TehT¥T TeTell

Vmé@ﬂm
(D) ¥is fire gg=
(E) IRt

vifereft =0t fpg ad G foma T o, S
et aNt A fodiy w7 & =1 % T
weh A e

(A) 2011 4 Y8 2013
(C) 2012 %g[‘g (D) 2014
(E) TSR

6. TR I g WRA # = ¥4 4 Tt
T 3 AR 37 T TIHfh A Heed
EE_ asHEm R |

v(ﬁ)ﬁl’(éﬁ
(B) @V H @ret
(C) =5 I W
(D) Ik | | HIg &
(E) T5téa

7. st gfmn wi s il
mﬁmmﬁﬁmw%mml

(A) 1857
(B) 1867
\/eef 1858
(D) 1888
(E) STwRféa
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10. As per the School Bag Policy 2020, school

1.

Join Telegram Group "HaryanadJobs.in"

(E) Not attempted

shall offer Languages along with
Mathematics and Environmental Studies
in Classes Ill, IV and V.

(A) One (B) Three ]! Lk
(C) Two (D) Nil [%:&élg

(E) Not attempted

Pilot project of Sanjeevani Pariyojana
begun at district of Haryana.

(A) Kurukshetra
(B) Jind

(€)
(D)
(E) Not attempted

Karnal

Ambala

iy — 107

istri g o HE et %
g. Gandhi Memorial:Hall f Karnal district of il

' ier known as :
Haryana was earlier ‘ o
(A) Georgeé Memorial Hall (A) Gﬂﬁ AR o
(B) Indian Memorial Hall (B) gfea A1 o
(C) Victoria Memorial Hall ‘ ﬁ?ﬁﬂ'ﬂ ﬁﬁiaagm
(D) Chhotu Ram Memorial Hall \/D)/ Big T AT
(E) Not attempted (E) 31921“316

), p021-22 8 ¥ TR IR
is an integrated women : _

" empowerment  programme launched fpa T @g‘,ﬁ afger %z?lﬁi{ HTIHA 3,
by the Govt. of India in 2021-22 as an 5 afeen 57 6 T i I CERY
umbrella scheme for the safety, security %ﬁ - - ( ) % |
and empowerment of women. » Wmﬂ@m TSI IS
(A) Mission Naari LK
(B) Mission Shakli ‘1\/65? GEES ;'lal
(C) Mission Stree E £ (GRELE
(D) Mission Samman s (D) firer T

(E) It

10. @?{éﬂﬁ%@ﬁzozo%aﬁwm
i, 1v 3 v e # i 3R gafa

37 % Y- TS SEH
Ml ")
(A) TH (B) diF

] (D) A
(E) 3T9amtéd

@ Hoftardt wfiomT Y TrIee aREsHT
R % o 7 aE s |
(A) EE
(B) Sfie
(e] A
(D) 3FaTen
(E) 3T

1
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12. Whichofthe following factors limit frondom
in the dasigning of a school timg tablo ?

(A) Teacher avallability
)
A
%&Iﬂ

(B) Time
(C) Lack of public utilitios

(D) All of the above

Difficulties in acquiring knowledgo and
skills to the normal level expected of thoso
of the same age, especially because of
mental disability or cognitive disorder is
called

A
B

(E) Not attempted

13.

(A) Cognitive difficulties
(B) Learning difficulties
(C) Attention difficulties
(D) None of these
(E) Not attempted

The National Yoga Olympiad is being
organised jointly by the Ministry of
Education and

(A) National Educational Technology
Forum (NETF)

(B) School Quality Assessment and
Accreditation Framework (SQAAF)

(C) National Schools Authority of India

(D) National Council of Educational
Research and Training (NCERT)

(E) Not attempted

14,

15. As per Constitution of India, which of the

following Article ensures gender equality ?

(A) Article 16 (B) Article 15 (3)

(C) Article 15
(E) Not attempted

(D) Article 14

e

MT ~ TO7

st 1 9y aronqr aregs fasners qe wifroft
W fonaet it vegcigan o ifoa wi B 7
(A) Taisras suerssil
(B) {4
ey ads i peqiferenisii 1
(D) | 3wl g:ﬂ ;‘é
(E) sy (w4 (o]
frily @ @ e st A1 AT
e % T AT P e A st
AT T e i S e i R
wfemgal Feerdl 8 |
AHICHS hieTsAl
e 6wz -
(C) e 1wl
(D) %H A B1g el
(E) srormfad
14. T A FeAvETS H SRS foren
dfrm w2 | |
. (A) TS dfern drenfiht T (T.8.8.0%.)
(B) feraer TurEw AT 3T ggEA
& (TH. 9, TTTE.) T
(C) wreta T ferenera wfrehor
oy | T s rgEET 3R AfE
qftwe (.43 3mAL)
(E) 3t

e % wfaus % e, Foafafea # @
AT IS éﬁzswmmaﬁgﬁﬁaa
HA B 7

(A) 3TT=S 16 (B) 31=ag 15 (3)X

(©) ¥ 154 JPY e 14
(E) 3ranfyd

(%)

13.

(9
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16.

17.

18.

19.

Join Telegram Group "HaryanadJobs.in"

i i 88
National Forest Policy of India, 19

envisages a goal of achieving t
of the geographical area of the country

under forest and tree cover.

(A) 33% (B) 25% |

(C) 55% (D) None of the above
(E) Not attempted

This river enters the Haryana State near
Pinjore

(A) Kumudwati .
(C) Drushavati
(E) Not attempted

(B) Yamuna
(D) Ghaggar

Counseling helps students in the following
ways except E’%

(A) Resolving lnterpersonal problems and
fostering positive group behaviour
(B)
(C)
(D)

Enhancing self-esteem
Establishing unclear academic goals

Working through personal problems
which cause emotional distress

(E) Not attempted

National Dairy Research Institute (NDRu),
Karnal evolved from the erstwhile

(A)

Gowt. Institute of Dairy Technology
(B)

National Animal Husbandry
Organisation

(C)
(D)

National Dairy Institute

Imperial Institute for

Anima| Hu
and Dairying Sbandry

(E) Not attempted

.

i3
i,

"3

(B) 25%.

(C) 55%
(E)

17. = @ fiie % Fe ST T § vy
AR
(A) FHEET

(C) gt
(E) AR

18) wrafémm, maﬁﬁm%fﬁaaaﬁaﬁﬁm
FA 8, am
L;; (A) mﬁv%sswwaﬁaﬁzamaﬁz

mmmaﬁmm
(B) ATcH-w T # gfyg <
(C) aWﬁHﬁmaazﬁﬁww

(B) IHAT
Py T

19.
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20.

21.

22,

23.

Join Telegram Group "Hmé'ry"a—h'aJobs.rin"

When learning or training in one situation
hinders, interferes or weaken the learning
in another situation is termed as

(A) Zero transfer

B) Positive transfer

(B)

(C) Negative transfer
(D) Both (B) and (C)
(E)

E) Not attempted

crossings should be used
by the pedestrians to cross road.

(A) Footpath

(B) Side road

(C) Zebra

(D) Main road

(E) Not attempted

Which of the following is the community
managed irrigation system in the Tapi
River basin in Maharashtra ?

(A) Phad

(B) Taanka

(C) Bawari

(D) None of the above
(E) Not attempted

Which of the following is not a principle of
school time table construction ?

(A) Type of school E'.;l'?‘.%
(B) Amount of time available wihile]
(C) Departmental regulations
(D) Age of the teacher
(E) Not attempted

o

MT — TO07

20. m@f@rﬁr%mmuﬁm@rfﬁﬁ

fRfy % arftrmm o =14, ’éﬁéﬂ?ﬂ@éﬂ?ﬂ
e, | msﬂm%l
(A)Wm )
(B) THITCHH FEaTa

ThTTCHh BTl
(D) (B) 3R (C) &
(E) e

Waﬁﬁmmmm%%ﬁ
mmﬁmél’
(A)W

(B) T ! HSH

eI

(D) &= Hsh
(E) 3Tsmterd

ﬁw%mﬁwq-a;ﬁmﬁmw

e # wge et o S ® 7
I‘*‘g |

) et
(C)mﬁ
(D) ST & | IS T
(E) STSRITTEd

20

23, Ff=#® aﬁq—mﬁzmg__@g_sm&ﬁnh

1 frgia T R} 7
(A) Tererem 1 TR &
(B) UcTsY {HI I HEAT

~ (C) T fam -

By T fr g

(E) 3rmHd
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24. Rash driving is punishable under csha g |
g 304
(A) Section 304 of IPC (A) ﬂlﬁ‘ﬁFﬁ <l i
IRy
(B) Section 279 of IPC B) Wz e
m—éﬂpﬁ gl
(C) Section 336 of IPC (C) >
D) it sht &R 258-
(D) Section 258 of IPC (
(E) Not attempted (E)
v e 3 et /EE = RO
i sess | 25. N9 ,
25. When assessmentis undertaken to as i Rrereff £ gty 0
’ i ieving defined % I HA H ThH e TS
a learner’s progress in achieving defi ’ T . %
learning goals/learning outcomes, it is T FH & %’Q\W IER 1RSI :
considered as | EL'?: @ {@ T Gﬂ?ﬂ%’ .
(A) Comprehensive Assessment ? 5] (A) SATH W
(B) Continuous Assessment \/(55 Had HedTehd
(C) Both (A) and (B) 4, (C) (A) 3R (B) qHI
(D) Competency Based Assessment (D) FIAT TG FeITehe
(E) Not attempted (E) 3T5=miyd
26. In Haryana, Mazdoor Divas will be 26. '&-’R?JTWT L AN ﬁH'H ﬁwﬂ:ﬂ?ﬂ
celebrated on ST | "
(A) January 30 (A) SHatt 30 <
(B) April 14 @J@;@ (B) 3 14 £
(C) March 9 72 (C) wrs 9 &
(D) None of the above AADT S & g EAREE]
(E) Not attempted (E) arvanfia
27. The annual net primary productivity of the @lﬁ Sanss 6y i
~ whole biosphere is approximately T Reah 2 ~ : ScTeEhdr
(A) 170 billion tons (dry weight) of organic A) [wHifes Teref
matter g A 3 BT 170 foferam o5
(B) 300 billion tons (dry weight) of organic \,('B/) m )
matter : h q;ﬂ?f T 300 foferm o5
- TR
(C) 100 billion tons (dry weight) of organi
e 9ht) of organic (C) aife weref =1 100 farferr o
(D) None of the above (‘ﬂ? m-{)
(E) Not attempted (D) 3w &
C (E) 3tsrmfdm
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28.

29.

30.

31.
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Rang Mahal of Ambala gt

was erected during the re.gn'céfin Haryana
) Akbar

EB) Alamgir g%%

(C) Shah Jahan

(D) Nadir Shah

(E)

E) Not attempted

Children usually dlsplay separation anxiety

tillthe age of whichis considered

as a part of healthy development.

MT - TO7

i % arren et #§ o wew fhEs
WTEeTeRTel T e T o 7
(A) 3FET |
(B) 3TTTHIIT

AT TR
(D) i M8,
(E) TS

T AMAR W ___ H AP Th
mﬁﬁﬁmmﬁhaﬂ%%ﬁ@w

EYE ﬁaﬂamqmﬁwwmél

(A) 3years - o

(B) 6 years . (4;(3 i
6

(C) 5 years (©) 5 T

(D) 8 years (D) 8 =8

(E) Not attempted (E) T

Which of the following Ministries of India
had been launched SeHAT Initiative ?

(A) Ministry of Defence

(B) Ministry of Rural Development

(C) Ministry of Family and Health Welfare
(D) Ministry of Panchayati Raj

(E) Not attempted

It refers to not only simply ‘seeing’ a thing,
but to the act of perceiving or observing

the stimulus
(A) Imitation
(B)

(C) Observation
(D)

(E) Not attempted

Trial and error

Insight

30. WRa & F=fafed @ @ frm mee™ g
SeHAT gd J[E 1 5 off ?
(A) T8 AT
(B) TTHIOT {qentdl HATCTE
\MWEWWW
DREERCEEREIGE
(E) 3SRt

@mqm@mﬁ‘%@ﬁ’%mm

T 2, Sfceh IUSMT Bl THSH AT I 5
% & off gehia = 2
(A)W
B) wlia 3R Ife
mmw

»&B’m@
E) 3Twmted
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32.

33.

34.

35.

36.

Join Telegram Grou

. i
validity of learners licence |
(A) 1 Year
(B) 30 days
(C) 6 months
(D) None of the above

(E) Not attempted

The Juvenile Justice (Care and Protection
of Children) Act was passed in the year

(A) 2013
(B) 2015 (EI5E
(C) 2014 r*&-"“ﬁﬁ
(D) 2016

(E) Not attempted

What is the maximum age of a girl for
opening an account in Sukanya Samriddhi
Yojana ?

(A) 7 years

(C) 8years

(E) Not attempted

(B) 9years
(D) 10 years

Which of the following is/are key aspect/s
of children’s play ? ' v

(A) Wonder
(C) Joy

(E) Not attempted

(B) Choice
(D) All of the above

Who among the following received the

prestigious Champions of the Earth Awarg
in 2022 9

(A) Purnima Devi Burman
(B) Ravishankar Prasad
(C) Vandang Shiva
(D) None of the above
(

E) Not attempteq

p "HaryanaJobs.in"

3, A1 S ) JuaT 2
(A) 178
(B) 30 fed

V@f 6 |

() ST A A P T
®)

(E)amr%ﬂ .
R = (@t 1 GETE S FE)
R ey o urfta feRam T o1 ?

(A‘)ﬁ 2013

(B) 2015x/
(C) 2014 ge
L I
(D) 2016 &
(SESERIE

34. FH1 TYfg Ao B UH @ G ¥
fere wh wresht 1 srferham sy w2

(A) 7 ¢ (B) 97
(C) 8 10
(E) 3ttt
35. ﬁw%%a_ﬁ@aﬁa—ﬁaa‘i%@a%_
RAR/E 7 - ST D
(A) 3T (B) =T -

A S s
(E) vy
ﬁtri%rﬁgaﬁ%%ézozz

AT T a3ref
et

1 g
ST g3 7

-10-
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38.

39.

40.

41.

Join Telegram Group "HaryanadJobs.in"

Mission is the Nation
for Civil Services Capacity

(A) Karmayogi

al Programme
Building.

(B) Atmanirbhar

(C) Jnanayogi (D) Nagarik Seva

(E) Not attempted

Nawab Fadai Khan, the architect of

Pinjore garden was the foster brother of
this Emperor

(A) Akbar
(C) Babar
(E) Not attempted

(B) Aurahgzeb
(D) Shah Jahan

How many Ramsar sites are present in
India ?

@ 75 EEE @) 6o
(C) 85 Euthi[E (D) None of the above

(E) Not attempted

Which of the following is/are example/s of
man-made ecosystems ?

(A) Crop fields

(B) Aquarium

(C) Both (A) and (B)
(D) None of the above
(E) Not attempted

In 2019, the developed a

Preschool Curriculum for three years of
preschool education along with Guidelines
for Preschool Education.

(A) NCERT (National Council of N
Educational Research and Training)

(B) NCFW (National Curriculum Frame
Work) _

(C) NEP (National Education Policy)

(D) NECCE (National Early Child Care

Education)
(E) Not attempted

-11-

(A) wHafl )mﬁﬁt
(C) T (D) TR &

(E) 3Tmtérd -

@ﬁmﬂtmﬁsmmm@ﬁw

FYTe % 9T 9TE 2 3

(A) TH (B) N=IE
 (C) IR NIEE

(E) 3Ty

39. WRA & fera- THE T WG & 7.

\/T,(f_g: 75 (B) 60

(D) ITaa § & IS A8l
(E) STs=mRra

40. Trafafea § & ama-ffia oiteafas o
¥ ITTE H- B/8 ?

EIS[E (A) HE % ©d

_ -i;.:ﬁ’(B)uﬂ?ﬁm

AP (A 3 (B) T
(D) IUad A | I3 gl
(E) IToREa

2019 3 qefepet fran & forg

et o Ty A A hi geeRe e

& foru weh geieepet qreeishn Tarehfira foma |

(A) @@ H.23MA. (T HRRE ATE

TSRS e e i) '

"\ AB) TLH.TE TR, (AW HipeH
Teh)

(C) W.3.d. (AvHe TFeheH diferdt) £

(D) .38 .3, (A I Sges wH
TS

(E) 3T9ria

41.

N
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e
42. Information signs are given in

(A) Red circle (B) Black circle
(C) Red triangle (D) Blue rectangle

(E) Not attempted

43. This poet from Haryana was honoured
with the Padma Bhushan Award in 2005
and Punjab Ratan Award in 2001

(A) Lakhmi Chand
(B) Sardar Anjum
(C) Altaf Haali

(D) Murarilal Sharma
(E) Not attempted

44. K. Malleshwari had won the bronze
medal at Sydney Olympics, 2000 in -
weightlifting category.

(A) 55kg (B) 69 kg
(C) 65kg (D) 75 kg
(E) Not attempted

45. Recently, Haryana Chief Minister Manohar
Lal Khattar launched the ___ Scheme
with the objectives of providing financial
assistance to Antyodaya families in case
of death or disability.

(A) Dayaly (B) Atma bandhy
(C) Deen Bandhy (D) Sakha
(E) Not attempted

46. Indira Priyadarshini Vriksha Mitra Awards
are given by .

(A) Government of Karnataka

(B) Ministry of Environment and Forestg of
Government of India

(C) Union territory of Andama
Nicobar - " and

(D) None of the above
(E) Not attempteq

% 5a F H 2005 T yy,
Waﬁ( 2001 H T T ey ¢
JTERR oyt B
e Tt 50
tn (B)wm

(C)m‘éﬁﬁ

(D) e T

GEERIEY
as.uséﬂaﬁﬁﬁgﬁaﬁﬁ%, 2000 ¥

R 40t Hier vew oy |

A 55kg ¢ (B) 69 kg
(C) 65 kg (D) 75kg
(E) TSt

smaw, &P ¥ e wie o
TR Ao sieden whant @
T e % wmet § e geE
ST FH % I % @ g 2 |
v@m (B) 3eH sy
) U |y E31c|
(E) Strmfeg Ll
L T
e o o g
(A) Fries g
1) |9 e 3 e s o
(C)mmaﬂxﬁaﬁwmﬁram
(D) Wﬂwﬁﬁaﬁéqﬁf
(E) STormfeg

43.

-12.
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48.

49.

50.

Join Telegram Group "HaryanadJobs.in"

W

in which of the following place chegtah
reintroduced in India ?

(A) Kuno National Park

() Silent Valley National Park

(©) Kudremukha National Park

D) 0RO
(E) Not attempted E’. lfl

None of the above

In Haryana, Rajiv Gandhi Parivar Bima
Yojana was launched in

(E) Not attempted

Which among the following is an epic play
written by Emperor Harshavardhana ?

(A) Avanti Sundari Katha
(B) Meghaduta

(C) Kadambari

(D) Ratnavali

(E) Not attempted

Decomposers break down complex
organic matter into inorganic substances

like

(A) Nitrogen dioxide, water and nutrients
(B) Carbon dioxide, water and nutrients
(C) Carbon monoxide, water and nutrients
(D) None of the above

(E) Not attempted

-13-

MT - TO7

47. ﬁm%{f@aﬁﬁﬁsawmm%ﬂmmﬁ
qq: A 7
@ e
(B) HTgeie el U 3T
AC) FoEE T A
(D) 3T # & HIE T
(E) e

Y E R |

(A) 2000

4By 2005

(C) 2003
(D) 2006/
(E)

49. Trfofaa # ¥ H-91 GO gHEE g
 ffed T R AEE & 7
(A) Tt gell wuT <
(B) Hergd A
(C) Frewall o

EHE
(E) STt

50. 3TTEEH Soel s TgIell i &
FFERH e A E
N T ST, T ot e

ad
IR § F HE T
TR

B)
C)
(D)
(E)

(
(
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51. If A and B are Square matrices of same | 51, afe A 3R B @Hm Fife F ot 38 8, @
order, then (A + B) (A-B) = - . (A+B)(A-B) =
«A) A% - B? | (A) A2-B2
2 2 - [#]15: (=]
48) A*-B%+BA-AB (B) |A*~B? + BA - AB #ﬁfﬂ
(C) A2~ BA-AB - g2 . (C) A2-BA-AB-pB2 futild]
(D) A%+ B%-BA +AB (D) A2+ B2—BA + AB
(E) Not attempted (E) 3Tsrnfira
52. A group consists of 4 girls'and 7 boys. The | 52, ws YR U 4 Tefrat ot 7ore% & | Ife v
number of ways a team of 5 members be | M FE dagh T, @ 5 9eEl & uH
selected if the team has no girls is + 9E e 0% A R mE 2 7
(A) 42 ®) 35 (A 42 (B) 35
A€) 21 (D) None of tHese¥ (C) |21 (D) 318 @ w1 7
(E) Not attempted (E) 3Titta
53. 1t1a]=|B|, then(3+B)-(3-B)= 53. 3R |a|=|B|, @ (3+B)-@-B)-=
(A) Positive - _(Bf Zero (A) ST LS
(C) Negative (D) None of these (C) FUITTH (D) S & HIE T
(E) Not attempted (E) 3rsnfia
54.  The variance of the first n natural numbersis | 54. g n Thide TEal 1 fewo 3
2_1 41 2_ n? +1
N ® " ® o ? r
2 _ 2,1 nn= =1 n(n® +1)
©) n(n12 1) D) n(n1 2+ ) . (C) _(ﬁ—) (D) =55
(E) Not attempted (E) nrnfé
55.  The perpendicular distance of the point 55. y-qli 4 fg (6, 5, 8) i weaw LUK
(6, 5, 8) from y-axis is - ) (A 5 B) 8
5 units (B) 8 units  [EIRE] ((c; 6 gg:gg ((D; 1;212‘
AC) 6 units (D) 10 un'its;. ]
Y(E) Not attempted (E) 3T5féa
56, The range of the function f(x) = x° + 2, 56. M f(x) = x° + 2, x € R 1 UFE 3
X eRis : | (A) (2, ») (B) [2, )
(A) (2, ®) \/(4 2, @) 2 -
(C) (-, ) (D) None of thes © (_w'v 2 _ (D) ?'Tﬁ il
(E) Not attempted 2.) (E) Rt e

C 9y~

Y et
A

-
—

4
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S S A MT - TO7
N
Tle‘/f"“e 9 f S'”Sde is 05’—\\‘ T) %,
@) W, 72 N 57 f sin® x dx @1 A B
(A) 5§ (B) (O 72
v 5 ; (A) 51 (B) n
(G) (D) 2n -2
) Not attempted () o o~ (D) 2n
(€) arenfta
” 1-COSX _
58‘ )(“,)0 X2 58 lim 1-cosx =
e ) * X -0 X

A AB) 5 1

( 2 (A) 1 ®) 2
1

c) 0 D) 7 1

( 4 (©) 0 (D) 7

(E) Not attempted

d is selected rand Y
50, Acar omly from a pack | 59, 529wl % T 4% @ AGREF w4 A A6 Ol
of 52 cards. The probabuluty that the card

;sanaceofsgadels 4 ﬁmmélagw//_@é?'ﬁ
. [Zc Y2V e R
® 1 ?M{)/ ! l—v% R ;
bo il > o Wy ® 5
(C) 5 E-](D) None of these ©) l ©) o & = 7
(E) Not attempted E‘?E 2 (E) 8
D w E:I
The locus represented by xy +yz=0'is 60. Xy +yz = 0 G ST T/ ﬁ"@m %
(A) apair of‘perpendig:ular lines A Flil?ﬁ i@aﬁ.aﬂ Th IH
\_IB] a pair of parallel planes - ‘ (B) T Hﬂ?ﬁﬁ T T gH
(C) a pair of parallel linesxX | (C) TR et U g
(D) a pair of perpendicular planes (D)] Tieer wwal 1 Th IH
(E) Not attempted (E) ITSRIRa - '

61. mwmﬁaﬁ:aﬁemmm
2, a‘rmqﬁmﬁtaﬁm%

61. The number of possible outcomes.
fair coin |s tossed 6 times is

) o (A) 2°
\/((é; 6 (B) 62
(C) 6
(C) 6° (D) 12
(D) 12 (E) Trfdd
(E) Not attempted
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62. lflgxB|=|g-gl,thentheanglebetween 62. @fa |axb|=|a B, 5’3?\'{5’%’53&
aandb s I 2
P
(A) = A 4 (A) = B4
2 il
(E) Not attempted (E) Frsrftra
63. The area of the region bounded by 63. wun =wqUin H x? =4y, y =2,y =43
X' =4y, y=2,y=4and the y-axis in the y-gh & B &7 F1 &owa 2 (a3 3
17 quadrant is (in sq. units) A
! 24 -2
A 4(a-a). A §(s-2)
32
) 2 G 5
4(g_
M’i(S—Z\/E) - (0 5(8-2V2)
SN i 3 T
(D) None of these E{{ﬁc (D) ?ﬁﬁ
(E) Not attempted (E) 3Ty
64.  The principal solutions of the trigonometric | 64- Preprutfidta THfiTT cosec 6 = - 2% T
equation cosec 6 =—2are . ' A8
7 ) v\ JL — —
MEE 3T (WP @EF
(C) % % (D) None of these (C) % % (D) T8 | & T
(E) Not attempted (E) A9t
~  65. Familyy=Ax+A%ofcurvesisrepresented | 5. wsl ¥ y = Ax + A3 T HI g ¢
by the differential equation of degree - ST FHISHOT GRT ST STl 2 |
AR 1 )
) %ﬁ_’g ),. (A) 1 (B) 3
(C) 2 (=) None of these (C) 2 (D) = | B T
(E) Not attempted (E) AvaRa
66. W waa?.(25+§j_§k)=1'ﬁ
the origin is @ 2 777
L (A) 1 P ® 3
18 of these (C) 7 3 (D) T § W T
L (E) Jrsnfir .
-16- : i
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o
in-1
7. If S‘m ),(‘*‘Sln y=X

cos ™ x +cos™'y 8.2 then the vaiye of
M 3
g (B8) 0
3

(E) Not attempted

@ The minimum value o
. ; : f4%4 al-
&z . W Cole

) 4 i
(E) Not attempted'(x(, ) 0

go. LetA=1{XY,2},B={1,2). The'uin
relations from Ato Bis - }. The'number of

) 32 (B) 16
(C) 64 (D) 6
(E) Not attempted
1
dx. ! -
70. -(.;ex+e'x B
(A) ‘L[j El'?u% (B) tan™'2
(€) tan”'e ) tan-‘e-g.

(E) Not attempted

The probability that a student will pass his
73, the probability of the

cat abroad is 0.13 and
he will pass or get a
then the probability of
ng seat abroad is

71.
examination is 0.
student getting s
the probability that
seat abroad is 0.80,
he passing and ‘gett'i

\/AA) 0.06 (B) 0
(C) 0.6 (D) None of

(E) Not attempted

72. The co-ordinates of focus of the |

X? =— 16y is
(A) (-4, 0K \XB)/ 0,-4
(C) (4,0 (D) (0.4)
(E) Not attempted
Hoa= 6
oa=Y

C’”/.@)

a| 72

Join Telegram Group "HaryanadJobs.in"

MT - T07
67. IR sin'x+sin™ y=2% al
cos ™ x+cos”'y qzrx 2
@"‘:"E‘J (A) i
Rl (S I (D) 21
(E) arsenfia =
68. 4"+ 4'"* (x R) I Z[IAH 7 2
(A) 2 B) 1
(D) 0
(E) arvnféd
| 69. WH SR A={xy,2,B={1,2) | AH B
% GaHl 6l TE @
(A) 32 ~ (B) 16
C) 64 (D) 6
(E)
1
dx -
| 0. E[e" +):e"‘ -
A % (B) tan™'2
(C) tan"'e (D) tan"'e-%
(E) T
71, Pl e el & S
o733, feremeff 1 g # W A T
&) sifoea 0,18 i g Il &
fo i e 2 1 TR 080%
<1 el 2 ot i s 30 &
TR
(A) 0.08 B0
(C) 06 (D) ¥ ﬁ@é Tﬁ
(E) ST
T - — 1oy % P e &
C) (4,0) (0 0.4
(E) o By
3
S ﬁ .0 33’{0 4 C
1
06
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P ax___ _
x(x? +1)
b@ log|x| -

i —log]x| +—;— log(x? +1)+cC
\/? log|x|+ % log(x? +1)+c
(D) None of these  *
(E) Not attempted

Iog(x +1)+cC

74. If Ais a matrix of order32< |A] = 5, then
[3A] =
(A) 15 \/ef 135
(C) 45 (D) None of these

(E) Not attempted

@ If [1-i =2% (wheren—\/—) the number
of non-zero integral soluti

<A>T”/jjzf‘f°5

(C) 2 (D) O
(E) Not attempted

76. If the sum of n terms of an AP. is
A=3N + 2n then the common dlfference

,

Q}ftheAP is EE] *37,_;,;&1
\,44) 3 ZE(B) 6
C) 2 (D) 4

(E) Not attempted

(E) Not attempted

73.

74.

75.

76.

77.

MT - To

dx _ _—
I x(x? +1)

log|x| - log(x +10)+c

(A

N

(B) —log|x|+3 dlog(x® +1)+c

(C) Iog|x|+ log(x? +1)+cC

(D) 37 & I3 TR
(E) Agaifra E?D

afe A, 3 x 3 I hl Th AT 3,
|A] =5, |3A] =

(A) 15 (B) 135

(C) 45 (D) 39 & s T
(E) rwamtéd

Ife |1—i|*=2*(aﬁi=ﬁ),a’rs@az
quries Bl ! HEAT &

(A) 1 (B) 4

(C) 2 : (D) 0

(E) T9mfia

X e iR AR nwE W

S,=3n +2n? 8, a1 THTGX Aoft
WIS 3R &
(A) 3 (B) 6

(C) 2 (D) 4
(E) I s

O | 2
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\ The value of tan (Sec“ D = ¢

. is ) + cof?

| (A) 5 ' = )
] _,-«(B/) 13

©) 1 (D
(E) Notattempteq

he intery
| A =2 3] (®) (2, g) |
(E ) Not attempteq
N
The arithmetic meg '/();Q
- L3 124816, n;sonhe Series \ 2~
~ /C
& 2N =1z v
‘/4( ’@ :aé( gn?ﬂ JL/'
n.;.\‘] N
©). _2?11@.5[51 ) 2" -1 “3,
n+1

(E) Not attempted

' The total possible matrices of order 3x3
wrth eachentry2orois .

(A) 9
(C) 27
(E) Not attempted

82. The number of different 4 digit numbers
that can be formed using digits 2 3, 4 and
7 without repetition is i Z\?’ prLt 4t )

A 24 B) 2 =

) 4* (D) None of ‘h':_re"lse
:

(E) Not attempted

In a circle of diameter 40 cm, the leng
a chord is 20 cm. The length of.
of the chord is

(A) 10m cm
(C) -g cm

20n
B) 22

Join Telegram Group "HaryanadJobs.in"
: . 9

MT - TO7
8. tan*(sec™ 2) + cot(cosac™ 3) 1 °T B
(A) 5 (B) 13
(C) 11 (Dy 15
(E) arsemfere
79, ’*Tf?«'zsf}x—lisé,?ﬁx ST
LRGN
(A) [-2, 3] (B) (2,3)
(E) stuafera
80. *Jwerr 1,2, 4, 8 16 ...... 2" T FFAOEE
mey 2
2" _4 2N +1
(A) 21 (8) =1
on+1_4 n_
e
(E) et
- 81, mm 291 0FH W 3 x 3FIE S T
|9 3MTegg 3
(A) 9 (B) 81
(C) 27 (D) 512
(E) ITsrnfaa
82. 23,431 7 3H = &I A ﬁm?ﬂ%tm
fohe = mﬁa@maﬁmﬁ ?
(A) 24 (8 2*
©) &° (D) T R P
() s ,
83. ST 40 cm AR Th I § SHe < s
20 cm ¥ | Sftan o Y =9 H TGS
(A) 10mcm ['é] l‘(B) 20“ gormn
© Fom *E‘J(D) ‘“‘\";Wg“ﬁ ‘
(E) et
é}L 1\
O 9 toA
=k I * PN
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CH AT b= e
. oy ga, wiewt {-j oM j-kHATImR
Angle between the vef:tors i _'j a_nd v e
ks e ™ 3 ® -3
(A) 3 B -3 5n
\ _2__ D) =
©F SO F S =
(E) 9T

(E) Not attempted {
d =sin2x ¥
85. T WAHW gy —3ycotx =sinZx g,

85. The integrating factor of the differential :
equation g{——-_Sychx=sin2x IS [E]hsE AT 1 8 . 2
(A) cosec % (B) sin gn[‘ﬁ (A) cosec X (B) sin“x i
(C) cosec™  \ AD) cosec’ (C) cosec’x SRt
(E) Not attempted XB / (E) ITwnterd
, ’ 2 :
% Wil o
2 _ r L 2 ? Y
86. 6[003 x dx = k AP 86. jcoszxdx= E?ﬂﬁ 3 /
T ~ Fid S 0 .'
(A) 3 \/({) 2 L g "* (A) % (B) %
C)o y
EE)) Not attempted > Z LS ot
3/
R (E) STsrRnfEa

P2
£87. AR |x+3|>10, A

87. If [x+ 3|2 10, then
(A) xe(-13,7]

(A) xe(-18,7]

A xelm o) &7 LB xe 131017, )
N (©) xe(13,7)

(C) xe(~13,7) ' /
) xe [-13,7] / (D) x e [-13, 7]

(E) Not attempted
88. ThesetA={x: X € R, — ¢

bd<x <@ T

interval is .
(A) [-4, 6] (B) B) (4,6)
) (-4, 6], (D) D) [-4,6)

(E) Not attempted
89. If the median of '2)Sv -g-, X>0)fy
‘(where x > 0) is 6, then
(A) 6 b (B
© 18 D)
(E) Not attempted

=3

B) 12
) 24

: | 42

A
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o v
; (\

n
age: Il "Cy> = Cg then p <

4
(A) "20 (B) 24
\/(C) (D)
(E) Not attempteq

al=10,|b|=
DL O1B1=2 ang (3.

91./ |
Q/ - b_)=12. then

None of these

Ja‘\f;[: 0.2 .CMe

(A) 12

@ g
(D) 18

(E) Not attempteq

\XB)/VI octant

(D) None of these

P(2,3,—1) lies in
(A) IV octant
(C) V octant
(E) Not attempted

92.

If Aand B are Symmetric matrices of same

order then AB'-BA! is a

V(é\) Skew-symmetric matrix
(B) Symmetric matrix
(C) Null matrix ‘
(D) ldentity matrix
(E) Not attempted

"

If A and B are any 2 events such that
P(A) =1, PB)=3 and PANB)=7,

w5l

94.

e

then

1, ifi#]
95. (

¢

96 S Join Telegram Group "H@gy@,maJ@bs '
\ \\

% (X (! Ji
\‘) :
QoY ,.%’El
90. ufa"c,,="c, @ n=
(A) 4 (B) 24
(C) 20 (D) T B T
(E) arsrnfird
afe |a|=10,|b|=2 3 (a-B)=12,
Izi)xb)|~
(A) 12 (B) 16
(C) 14 (D) 18
(E) Ironfira
92. P(2,3,-1) H2
(A) IV 372 (B) VI 3T
(C) V TS (D) $TH | I3
(E) IrsmEd
XQ:93. af A 3it B TR e F Tl 6 &,
NS AB'-BA’ ®
%\/ (A) | forem—emfira 31Tegg
(B) Tmftra 31sgg
(C) [ AR
(D) TcH ST
(E) TSR
94. af A3 BQ e 30 TR & {6

P(A) =1, PB)=7 3R P(ANB)=1,

P(%)=

(A § (8) 0

© 15 @) 4

(E) 3TRnféa '

i 5 1, 'Qﬁ :

95. H%WA':[aii]zxzm ajj ={ _q_%|fj

?‘hA3= i A i 0, l—]

(A) | B0

(C) A (D) -A

(E) FATRIA i

L) A

(E) Not attempted

AN
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el MT ~1q

g w
96. The magnitude of the vector 96. dfeg 6i+2j+3k =1 ufeamor 8

6|'A+2f+3il(‘ is

‘ AT i -
(A) 11 Yy .
(C) \/ZE (D) \/56 g}‘ = (C) \[4_5 (D) \/56
(E) Not attempted i (E)
s T 40 % fohehe oy
97. In a group of 65 people, 40 like cricket, | 97. 65 o ﬁﬁz;;?ﬁ:?ﬁ'g 4 i %
10 like both cricket and tennis. The number 2, 10 St B 2 e 2 'éﬁg
of people in the group who like tennis but Ty | fepera ’
V:%t cricket is fohobe e T g (B) 10
) 25 (B) 10 A) 25
(C) 15 (D) None of these C’\; (Cri1s o %(D) e
(E) Not attempted e E) ==

98. [e*(cosx-sinx)dx =

f e*(cosx —sinx) dx =
’ (A) e“sinx+c

(A) e*sinx+c

\/(g)ecosx+c

B) |e*cos x + ¢

(C) 2e*sinx +c¢ (C) 2ex.sinx+c '
(D) None of these (D) ¥ & 13 el
(E) Not attempted (E) Jrstya
99. Three vertices of a parallelogram ABCD | 99. Witk Iqy® ABCD % o 3§ A3,-1,2)
are A(3,-1,2),B(1,2,-4) and C(-1, 1, 2). B(1,2,-4) 3R C(-1,1,2) & |‘q’t€nﬁﬁ
The co-ordinates of the 4t vertex are ﬁ%ﬂﬁ? %
A -29  ® 02 . .

(€) (1,0,8) (D) (1 R
(E) Not attempted

100. IfP(n):2n<nl, ne N, then
alln >

(A) 2 (B) 1
e 4 4
(E) Not attempted
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